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N. B. l. Question no. f .is compulsory.
2. Attempt any THREE questions from remaining.

3. Assume suitable data if required.
4. Figure to the right indicate full marks.
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eu. 4: (a) construct the Routh array and determine the stability of the sls"(t'r-rl*tistiEi"'***: ';i.11.ttti'1.;t 't't''
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3. Assume suitable data wherever needed

,pf;adaptive Delta modulation

With the he$ of a neat blook diagram explain the S1ellior and detection of a
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pPM sisnaf. Aho eipla1,,.thrr1nikts and demerits of a PPM transmission.

fxpUin-the terms :S'dectivity.; Fidelity, Sensitivity, AGC
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3)Usesuitabledata,wherevernecessary. ;:.:t.:-lrn.--,-.*,,,-,,',',1;*i.rt'..,.':-I.$ii.-t,n ,i',.i

Quesrion l: Attempt any four questions from the foltowiry 
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L I) Differentiate between Mealy_Machine and@Si,***U*'.,. .:.t ,.lt- i;1.'.,., '.:S. 
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III. Compose VHDL code for Implementatioii,gfO'rpUetnuni,,1'j' :, , : . 1, -;' .1, 
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Question 3(A) Shown below is the state table for sequential machine, t{si$&[fqpli_qq$lgS'-SA$;l'o--o,o:;',;; 
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Question 3(A) Shown below is the state table tbr sequential machtne, !#iggfnpllcfltua0'Snfl{f ,.:'"; .-...,,: 
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xtx2 00 Z 0l Z l0 Z 1l Z

A D 0 D 0 F 0 A 0

B C D 0 E 1 F 0

C C I D 0 E I A 0

D D 0 B 0 A 0 F 0

E c F 0 E I A 0

F D 0 D 0 A 0 F 0

G G 0 G 0 A 0 A 0

H B D 0 B 1 A 0
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Please check whether you have got the right quel
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N.B: l. QuestionNo.l is compulsory. 
":;iir:2. Attempt any three questions from remaining. ,"' 
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Explain working of RC phase shift oscillator. Give "*poiil 
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Drawblockdiagramofvoltageseriesnegativefeedba,ik.Deriveform3lae,frrA;. '1Q'',.'' "
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amplifier with proper equation.

in Diff amps. Give description of any one 10
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Question no. 1is comPulsory

Sotve any three from the remaining five questions'

Assume suitable additionaldata if necessary'
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N.B.: (1) Question no. I is compulsory.
(2) Attempt any 3 questions from remaining e. 2 to e. 6.
(3) Use statistical tables wherever required.
(4) Figures to right indicate full marks.
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Find the coefficient of correlation from the followinBbata: N;10,f, X---22S

I Y=189, X(X - 2Z)2=g5 X(y - 19)2=2j.,"..:.i ' : 'l i,''..-'. i' :

Evaluate !" logzd.z where cis lzl =t;,li'.".'.. , ' "." ";
Find the piolection sf u=(3,1,3) atonea:hdiei'ea'i*t6iir,.6 ',2i+..,, ': '
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,.,r+ r,g;i$ostuti.ent jl@itir-rs r"un of xis 62.4 and 16Var(X) = 9
, ll - ' ' Va(Y);h'egr.ess'ion line:of X on Y is 3Y.5X +180=0 Find (i)Mean of y (ii)Correlation r

between'X.and Y{ii[)Regression line of y on X' b :.,,, Evaluat.tr,.d J:*n"r".'u i't trt=r gillz-2-il=z(ii) lz-t-zil=z' ]'' " - '"C.heckwhether th'esetof aflpairsof realnumberoftheform(1,x)withoperations

i...*:./:,;;ds ''' ,,.l , .: i;: '
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:,,...."',',...UiingCagchyresiduetheoremevaluateIiffia-
'." .'' 'b, '. 11 'o olI ,: 

,. . . tf A=l 1. 0,,, l l find Aso' -.t; "\::r'.i:,;'. : r.: .-r,.'-:' .'' ' .l.''., [o 'r ol

, ,. ,,i , ..i ,, '." 
t:HIA,$qoT Poisson distribution .Hence find it's mean and variance
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